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In considering this marking scheme, the following should be noted:

. The detail required in any answer is determined by the context and the manner in which the question
is asked and by the number of marks assigned to the answer in the examination paper.

. Words, expressions or phrases must be correctly used in context and not contradicted, and where
there is evidence of incorrect use or contradiction, the marks may not be awarded.

. As a general rule, if in doubt about the validity of any answer, examiners must consult their advising
examiner before awarding marks.

. The suggestions, examples etc. in the scheme are not exhaustive and alternative valid answers

etc. are acceptable.
The procedure for marking consists of:
. Careful reading and analysis of all the responses
. Allocation of marks to the components according to the agreed scheme.

Marks for cohesion

Marks for cohesion will be awarded on the basis of the structure, organisation, views and opinions,
coherence, focus, context and clarity of the response.
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HIGHER LEVEL

SECTION A - Short Answer Questions 50 Marks
Question 1: 50 marks - 10 x 5 marks each

(a) What s the role of the committee system used by the houses of the Oireachtas? Name one
cross-party committee that works in the houses of the Oireachtas.

Role of the committee system = 4 marks
Very good explanation 4M, Good 3M, Fair 2M, Weak 1M, Irrelevant OM

Explanation

+ QOireachtas committees advise the Houses of the Oireachtas on a range of specific areas.
Committee members include TDs, Senators, or both.

+ Committees receive submissions and presentations from members of the public, interest groups,
and government departments. Their public meetings are broadcast live, and recorded. They may
publish reports on specific issues.

+ Committees also scrutinise Government expenditure and debate proposed legislation.

Names of Committees = 1 mark

. Public Accounts Committee

. Joint Committee on Agriculture, Food, and the Marine

. Joint Committee on European Union Affairs

. Joint Committee on Social Protection, Community and Rural Development and the Islands
. Joint Committee on Health

. Joint Committee on Transport and Communications

. Joint Committee on Gender Equality

. Joint Committee on Disability Matters

. Joint Committee on International Surrogacy

. Comhchoiste Na Gaeilge, Na Gaeltachta Agus Phobal Labhartha Na Gaeilge (Joint
Committee on The Irish Language, The Gaeltachts, and the Use of Irish in Public)

. Select Committee on Education and Further and Higher Education, Research, Innovation
and Science
. Joint Committee on the Implementation of The Good Friday Agreement

(b) Detail two barriers to accessing third-level education in Ireland.
Two barriers: 3+2 marks with explanation

Explanation 1 - 3 marks: Very good explanation 3M, Good 2M, Fair 1M, Irrelevant OM
Explanation 2 - 2 marks: Good explanation 2M, Fair 1M, Irrelevant OM

Suggested reasons

Some of the most significant barriers include economic factors, social lottery, age, mental health,
learning difficulties, confidence, stigma, self-esteem, a lack of fundamental skills such as ICT,
literacy, numeracy, and a negative experience of education resulting in a lack of value placed on
education.

(c) Whatis the role of the United Nations Development Programme (UNDP) in ensuring rights
and access to development? Name a key theorist associated with this idea.

Role of the UNDP = 4 marks

The UNDP strategic plan focuses on key areas including poverty alleviation, democratic
governance and peacebuilding, climate change and disaster risk, and economic inequality. UNDP
provides support to governments to integrate the SDGs into their national development plans
and policies.

Excellent explanation 4M, Very good 3M, Good 2M, Fair 1M, Irrelevant OM

Name of key theorist =1 mark
Andre Gunder Frank
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(d) What is your understanding of the ideology of socialism? Give an example of a socialist
idea or policy.

Definition of Socialism = 4 marks
Excellent explanation 4M, Very good 3M, Good 2M, Fair 1M, Irrelevant OM

Socialism:
A political and economic theory of social organisation which advocates that the means of
production, distribution, and exchange should be owned or regulated by the community as a whole.

Example =1 mark
Examples of socialism include organisations like worker co-ops, credit unions, public libraries,
and public schools.

(e) What is meant by the term ‘dependency theory'? Give an example.

Definition of dependency theory = 4 marks
Excellent explanation 4M, Very good 3M, Good 2M, Fair 1M, Irrelevant OM

Dependency theory

Focused on individual nations, their roles as suppliers of raw materials, cheap labour, and
markets for expensive manufactured goods from industrialised countries. The unequal exchange
relationship between developed and developing countries was viewed as contributing to poor
economic growth.

Example = 1 mark

One of the significant examples of dependency theory today is how African countries received
huge loans from advanced countries starting in 1970. Many of the countries have tried to repay
the loans, but there is still lots of interest that has been accrued.

) Detail two factors that contribute to migration.

Two factors: 3+2 marks with brief explanations
3 Marks: Very good explanation 3M, Good 2M, Fair 1M, Irrelevant OM
2 Marks: Good explanation 2M, Fair 1M, Irrelevant OM

Suggested

Demographic and economic migration is related to poor labour standards, high unemployment,
and the overall health of a country>s economy. Pull factors include higher wages, better
employment opportunities, a higher standard of living, and educational opportunities.

(8) Whatis ‘greenwashing'? Explain a strategy that could be employed to combat
greenwashing.

Definition = 3 marks: Very good explanation 3M, Good 2M, Fair 1M, Irrelevant OM

Greenwashing

Greenwashing happens when a company makes an environmental claim about something the
organisation is doing that is intended to promote a sense of environmental impact that does not
exist. The green claim is typically about some form of positive effect on the environment.

Strategy = 2 marks
Good explanation 2M, Fair explanation 1M, Irrelevant explanation OM

Suggested strategies

The best way to prevent greenwashing in your business is to foster transparency, especially
when it comes to the environmental benefits of your products or services. This means working
on your emissions management, setting actionable goals, tracking your progress, and producing
verifiable reports.
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(h) Do you think the Citizens Assembly in Ireland is a valid method of giving voice to people’s
concerns, and of contributing positively to democracy? Explain your answer.

Reward candidate opinion 5 marks with an explanation. If no reference made specifically to the
Citizens' Assembly, award a maximum of 3 marks.

Explanation =5 marks
Excellent explanation 5M, Very good 4M, Good 3M, Fair 2M, Weak 1M, Irrelevant OM

Role of Citizens Assembly

Assemblies are made up of three groups of people: citizens, expert witnesses, and facilitators/
organisers. The format allows for deliberation, open discussion, and focused questioning, which
in turn enables an informed recommendation (or series of recommendations) to be made by
citizens.

(i) Gender stereotypes can be harmful and detrimental to people becoming fully capable and
happy human beings. Give an example of harmful gender stereotypes that you may have
encountered. Name a key theorist who would agree with this point of view.

Example = 4 marks
Excellent explanation 4M, Very good 3M, Good 2M, Fair 1M, Irrelevant OM

Examples of gender stereotypes

Girls should play with dolls, and boys should play with trucks. Boys should be taught to like blue
and green; girls to like red and pink. Boys should not wear dresses or other clothes typically
associated with girls. Girls are better at reading and boys are better at maths. Girls should be well
behaved; boys are expected to act out. Girls and are not as interested as boys in STEM subjects
and boys should engage in sports and refrain from more creative pursuits. Boys and men are
expected to use violence and aggression to prove their manliness. A boy that does not use
violence or aggression is an understandable target for bullying, and finally, that girls should be
thin and beautiful to make them appealing to men.

Key theorist: Sylvia Walby/Kathleen Lynch/Martha Nussbaum = 1 mark

(j) Study the infographic below and answer the questions that follow.

i. Can you suggest a reason for the difference between rates of maternity and

paternity benefit? 2 marks
There is an expectation that caring and raising children is more of a woman'’s role. This is
perpetuated in public, and also in private patriarchal attitudes, both within the traditional family
setting and in government/state policy.

ii.  What does the difference between the sectors with the highest and lowest maternity
and paternity rates tell you about attitudes to childbirth within those industries?
1 mark
Public patriarchy and the labour-intensive nature of those industries. The transient nature of
employment in those industries is also a factor.

iii. Why do you think more than half (50.2%) of fathers chose to claim paternity leave?

2 marks
Men are less likely to take paternity leave because there is an idea that women/mothers are
responsible for the care and raising of children. New fathers fear they might be stigmatised by
their employers and miss out on future opportunities.
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(k) What, in your opinion, has been the impact of government and supranational legislation
on tackling climate change?

Reward candidate opinion 5 marks with explanation. Candidates should refer to existing climate
strategies/agreements and whether they have been effective/ineffective. If no valid reference
made award a maximum of 3 marks.

Excellent explanation 5M, Very good 4M, Good 3M, Fair 2M, Weak 1M, Irrelevant OM

Suggested areas of discussion

Kyoto/Paris climate accords, COP conferences, individual government policies/strategies.
Reduction of US greenhouse gas emissions 50-52% below 2005 levels in 2030. Working towards
the goal of 100% carbon pollution-free electricity by 2035, a net-zero emissions economy by
2050 and delivering 40% of the benefits from federal investments in climate and clean energy to
disadvantaged communities.

() Detail two threats to food security that exist in the world today. Name a key theorist that
you would associate with the debate around food security.
Two threats to food security: 2 + 2 marks
Suggestions
Threats to food stability include natural disasters, climate change, conflict, and economic factors
such as volatile price fluctuations
Key theorist: Vandana Shiva/Sean McDonagh = 1 mark

(m) Should the right to a home be law in the Irish Constitution? Give a reason to justify your

answer.

Reward candidate opinion 5 marks with explanation.
If no valid reason made, award a maximum of 3 marks.

Excellent explanation 5M, Very good 4M, Good 3M, Fair 2M, Weak 1M, Irrelevant OM
Suggestion
Without the right to housing, there is no duty on the Government to ensure all people have

access to adequate housing. Access to adequate housing is the basis from which one can realise
all their other rights.

(n) What is meant by the term ‘othering’ as used by the theorist Edward Said? Give an example
to back up your answer.

Definition of ‘othering’ = 3 marks
Very good explanation 3M, Good 2M, Fair 1M, Irrelevant OM

Definition
To view or treat (a person or group of people) as intrinsically different from and alien to oneself.

Example = 2 marks
‘A critique of the ways in which the elderly are othered by society.’
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(0) Name and explain two factors that have contributed to economic globalisation, and the
rise of global trade.

Two factors that have contributed to economic globalisation: 3 + 2 marks
3 marks: Very good explanation 3M, Good 2M, Fair 1M, Irrelevant OM
2 marks: Good explanation 2M, Fair 1M, Irrelevant OM

Suggestions
The growth in cross-border economic activity takes five principal forms:

International trade

Foreign direct investment
Capital market flows

Migration (movement of labour)
Diffusion of technology

uhwnN =
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SECTION B - Data-Based Questions - 150 marks
Total marks: 15m + 15m+ 15m + 15m + 20m + 20m + 50m
Question 2

(@) Whatis the purpose of Document A, and organisations like Reporters Without Borders (rsf.
org)? Use evidence from Document A to back up your answer. 15 Marks

Candidates must paraphrase the purpose/outlook of the document, and the organisation that
has produced it as detailed in Document A.
Very good answer 4-5M, Good 2-3 M, Fair0-1M

Suggestion

Reporters Without Borders (rsf.org) is an independent organisation that represents the freedom
of the press. Candidates could highlight that this may make the document biased towards the
media and not recognise the influential power that the media possesses. The purpose of the
document is to highlight the dangers that undermine press freedom, and how press freedom has
deteriorated over time.

Two pieces of evidence or detail from the document that illustrates the rationale or
outlook of reporters without borders. 2 x 5 marks.
Very good answer 4-5M, Good 2-3 M, Fair0-1M

Candidates must use the document to back up their answer from above. They must have two
detailed examples that refer to the question specifically. Examples they may use include the
ranking of certain countries and reasons why the countries rank, the categories used to rank the
countries; the dangers of fake news and Al; a comparison between 2013 and 2023 with graphs,
and threats to journalists in carrying out their role.

(b) What elements of Document B do you feel are valid and enhance your understanding of
Document A more effectively? 15 Marks

Candidates must identify specific differences in Document B that do not exist in Document A.
5 marks
Very good answer 4 -5 M, Good 2-3 M, Fair0-1M

Suggestion

Candidates must state that the article (Document B) is a commentary on the findings as
represented in Document A: that the role of the journalist is to comment and analyse the findings
and to highlight these for the public.

Two points of comparison between the two documents that help the candidate better
understand aspects of Document A =2 x 5 marks
Very good answer 4 -5 M, Good 2-3 M, Fair0-1M

Suggestion

Candidates must explain how document B enhances their understanding of Document A. Some
examples include use of sources; explanation of terms and insight by the journalist; commentary
and debate that is not seen in document A.
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(c) What are the major issues impacting press freedom as seen in the documents above? You
must refer to both documents in your answer. 15 Marks

Candidates must identify clearly exactly what the issues are as presented in both documents, this
is listing the issues that they identify and then explaining them below. 5 marks
Very good answer 4 -5 M, Good 2-3 M, Fair0-1M

Suggestion

Issues that candidates may identify are threats to press freedom, violence towards journalists,
the rise of authoritarian regimes and their control of the media, state control of the media, and
the rise of technology and Al in relation to press freedom.

Explanation of the issues and the candidate’s interpretation of why these are issues. 10 marks
Very good answer w/links 8-10M, Good answer w/some links 5-7M, Fair answer w/no links 0-4M

(d) What are the consequences of undermining press freedom according to both documents?
15 Marks
Candidates must give their interpretation of the consequences of the threats to press freedom as
demonstrated by findings as identified in both documents. 5 marks
Very good answer4-5M, Good2-3 M, Fair0-1M

Suggestion

Undermining press freedom can lead to state control of the media and less freedom of opinion
or interpretation. Elimination of the role of the press to hold leaders, states and governments to
account for their actions. Rise of disinformation and false information.

Explanation of these consequences and what impact they may have on press freedom.
Candidates must use information from the documents to back up their answer. 10 marks
Very good answer w/links 8-10M, Good answer w/some links 5-7M, Fair answer w/no links 0-4M

(e) Which document, A or B, do you feel most effectively communicates the threats to press
freedom? Answer making specific reference to both documents. 20 Marks

Compare and contrast the use and presentation of data as it relates to press freedom in
Document A and B. 20 marks. Where no comparison/contrast takes place award a maximum of
14 marks.

Candidates are free to argue effectiveness or not as long as they make detailed reference to the
documents.

Very good answer: clear, accurate answer, insightful. 16 - 20M

Good answer, relevant answer, lacking insight. 11-15M
Fair answer, limited answer, lacking clarity. 6 - 10M
Weak answer, contradictory or confused answer. 0-5M

Points to consider (examples from documents must be used):
Which document does the candidate feel is most effective?
Presentation of data - visually and textually

Sources of information

Explanation of terms and information

Commentary on findings

Recommendations and analysis

Similarities and differences between the documents

NoupsrwWwN =
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(f)  Which document gives a more favourable outlook for the future of press freedom? Answer
referring to both documents. 20 Marks

Candidates must make a definite decision on which document they feel gives a more positive
outlook on the future of press freedom. Where no comparison/contrast takes place, award a
maximum of 14 marks. Candidates are free to argue effectiveness or not as long as they make
detailed reference to the documents.

Very good answer, clear, accurate answer, insightful. 16 - 20M

Good answer, relevant answer, lacking insight. 11-15M
Fair answer, limited answer, lacking clarity. 6-10M
Weak answer, contradictory or confused answer. 0-5M

Points to consider (examples from documents must be used):

Is there any positive outlook in either document?

Are there any recommendations or suggestions in the documents that aim to protect press
freedom?

By identifying the threats and dangers to press freedom, candidates may highlight that this gives
us the opportunity to tackle these threats.

(g) Examining both the image below and Documents A and B, address the following question:

How important do you think press freedom is to the promotion and continued health of
democracy? 50 Marks

Candidates may agree or disagree with the statement.

The specific theme of the question is on press freedom and democracy. Candidates should
illustrate clearly whether they agree or disagree with the statement by choosing an example(s)
and highlighting some of the following:

. Threats to press freedom and their impact/consequences
. The importance of press freedom to democracy

. How press freedom and media could be protected

. Avoiding the dangers to press/media freedom

Candidates will need to back up their examples/pieces of information with detailed and relevant
data/examples from their studies.

Four pieces of valid information = 4 x 10 marks
Very good 8 - 10M, Good 5 - 7M, Fair 2 - 4M, Weak 0 - 1M

Cohesion = 10 marks
Very good 8 - 10M, Good 5 - 7M, Fair 2 - 4M, Weak 0 - 1M
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SECTION C - Discursive Essays

Marking the discursive essay:

1. Read the entire essay without allocating any marks.
2. Mark the essay using the marking criteria and total the marks.
3. Review total mark awarded using the grade band descriptors.

4. To finalise the total mark, review again using the criteria.
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ORDINARY LEVEL

SECTION A - Short-Answer Questions - 100 marks

Question 1 - 100 marks
10 x 10 marks

(@) Explain the difference between direct and indirect democracy.

Explanation = 10 Marks
Very good answer 9 - 10M, Good 6 - 8M, Fair 3 - 5M, Weak 0 - 2M

Suggestion

y In a direct democracy, the people directly participate in decision-making, typically by voting
on laws and policies.

. In an indirect democracy, the people elect representatives to make decisions on their
behalf.

(b) Study the infographic below and answer the questions that follow:

()  What percentage of incidents were carried out by people acting alone? 2 marks
58%

(ii)  According to this infographic, men are responsible for two-thirds of racist crimes and
abuse, why do you think this is the case? 4 marks
Men traditionally are more aggressive and exhibit more traditional racist values and stereotypes.

(iii) Why do you think adults are more likely to be perpetrators of racist abuse and crimes
than young people? 4 marks
Young people are more educated in inclusivity and live in a more diverse and inclusive Ireland
than older generations.

(c) Outline the role of The Ombudsman for Children in Ireland.

Explanation = 10 Marks
Very good answer 9 - 10M, Good 6 - 8M, Fair 3 - 5M, Weak 0 - 2M

Explanation
The Ombudsman for Children’s Office has two main roles: to deal with complaints made by or for
children and young people about the actions of public organisations; and to promote the rights and
welfare of children and young people under 18 living in Ireland.

(d) Name the three branches of government in a democratic state.

Three branches of government 4 + 3 + 3 (10 marks)

Answer: The Executive, the Legislative/Legislature, the Judiciary.
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(e) Define the term ‘discrimination’. Give an example of it operating in Irish society today.

Definition of discrimination =8 marks
Good answer 6 - 8 M, Fair 3 -5M, Weak 0 - 2M

Definition
The unjust or prejudicial treatment of different categories of people, especially on the grounds of
ethnicity, age, sex, or disability.

Example from Irish Society =2 marks
Abuse of refugees, racism, discrimination based on gender, sexuality, age, marital status, etc.

(f)  Explain how your energy usage can contribute to climate change.

Explanation = 10 Marks
Very good answer 9 - 10M, Good 6 - 8M, Fair 3 - 5M, Weak 0 - 2M

Explanation

When fossil fuels are burned, they release large amounts of carbon dioxide, a greenhouse gas,
into the air. Greenhouse gases trap heat in our atmosphere, causing global warming. We rely on
fossil fuels for the majority of our energy needs, such as electricity and transport.

(8) What do you understand to be the meaning of the term ‘civil disobedience’? Give an
example of civil disobedience.

Definition of civil disobedience = 8 marks
Good answer 6 - 8 M, Fair 3 -5M, Weak 0 - 2M

Definition

Civil disobedience can be defined as refusing to obey a law, a regulation or a power judged
unjust, in a peaceful manner. Civil disobedience is, therefore, a form of resistance without
violence.

Example = 2 marks
Blockades, tree-sitting, boycotts, sit-ins, marches, peaceful public demonstrations, and
deliberately disobeying a specific law perceived to be unjust.

(h) What does this image say about attitudes to refugees and/or migration?

Explanation 10 marks
Very good answer 9 - 10M, Good 6 - 8M, Fair 3 - 5M, Weak 0 - 2M

Candidates must refer to the image. If no reference to the image is made, award a maximum of 7
marks.

Suggested answer

This image demonstrates a negative attitude to refugees because it shows a soldier behind a
physical barrier that is keeping refugees from entering an area/state. This demonstrates that
refugees and migrants are not always welcome and intentionally kept out of countries/states.
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(i) Name two non-governmental organisations (NGOs) in Ireland that deal specifically with
the area of children’s rights.

Two NGOs =5 + 5 marks

Suggestions
Children’s Rights Alliance, National Youth Council of Ireland, UNICEF, etc.

(j)) What is your understanding of left and right-wing attitudes as they apply to the political
spectrum?

Explanation =10 marks
Very good answer 9 - 10M, Good 6 - 8M, Fair 3 - 5M, Weak 0 - 2M

Explanation

Generally, the left-wing is characterised by an emphasis on ‘ideas such as freedom, equality,
fraternity, rights, progress, reform and internationalism’, while the right-wing is characterised
by an emphasis on ‘notions such as authority, hierarchy, order, duty, tradition, reaction and
nationalism’.

(k) What is your opinion on how women are portrayed in the media? Give a reason for your
opinion.

Reward opinion with valid reason(s) and explanation =10 marks
Very good answer 9 - 10M, Good 6 - 8M, Fair 3 - 5M, Weak 0 - 2M

Suggestion

Women are frequently portrayed in media as weak and submissive, while men are portrayed
as dominant and powerful. This is evident in movies, television shows, and in the media where
women are often portrayed as victims of violence and men are depicted as aggressors.

()  Why has there been a rise in ‘far-right’ and nationalist movements and opinions? Give an
example.

Reason with explanation = 8 marks
Good answer 6 - 8 M, Fair 3 - 5M, Weak 0 - 2M

Suggestion

The rise in far-right politics can be seen as a response to a perceived erosion of national identity,
attitude, and culture. Some people may feel like they are losing their national identities to
internationalism and globalisation.

Example = 2 marks
Absolute government, anti-immigration, racism, gender discrimination, etc.
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(m) Name a supranational organisation and give one advantage and one disadvantage of
supranationalism.

Name of organisation = 2 marks
The EU, UN, World Trade Organisation, NATO, etc.

Advantage =4 marks

Citizens with a higher level of supranational identification exhibit greater support for democracy,
greater political efficacy at the national and local level, and greater interest and participation in
political affairs.

Disadvantage = 4 marks
Loss of sovereignty, independence, and national identity. Loss of national power in favour of
even bigger government.

(n) Why is it important that people have access to free and open media? Give a reason for
your answer.

Explanation with reason = 10 marks
Very good answer 9 - 10M, Good 6 - 8M, Fair 3 - 5M, Weak 0 - 2M

Suggestion

Firstly, it ensures that citizens make responsible, informed choices rather than acting out of
ignorance or misinformation. Secondly, information serves a ‘checking function’ by ensuring
that elected representatives uphold their oaths of office and carry out the wishes of those who
elected them.

(o) Study the below infographic and answer the questions that follow.

(i) Whatis the difference between average hourly earnings in 2019 and 2020? 2 marks
€1.33

(ii) Which region of Ireland had the highest per capita GDP? 3 marks
The Greater Dublin Area

(iii) How can information like this help government determine policy and changes
needed in Ireland? 5 marks
Information like this can help governments to form a more clear and precise picture of
circumstances and issues impacting people in terms of earnings. They can then adapt,
amend, and make new laws to help improve people’s lives.

(p) Name and explain two disadvantages of Ireland’'s membership of the EU.
Two disadvantages =5 + 5 marks
If no explanation is provided, award a maximum of 2 marks each
Suggestion
1. Fewer borders = Increased danger
2. Local governments are powerless to act in some instances

3. Lack of transparency & money costs
4. The European Union favours bigger countries
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(q) Give two pieces of information on the role of the President of Ireland.

Role of the President =10 marks
Very good answer 9 - 10M, Good 6 - 8M, Fair 3 - 5M, Weak 0 - 2M

Some presidential responsibilities are:

. Appointing members of government, judges, and other officials.
. Summoning and dissolving the Dail.

. Convening the Oireachtas.

. Representing the people.

. Signing bills and referring them to the Supreme Court.

. Acting as Supreme Commander of The Defence Forces.

(r) What does this image say about the ‘banking concept’ of education?

Explanation = 10 marks
Very good answer 9 - 10M, Good 6 - 8M, Fair 3 - 5M, Weak 0 - 2M

*Candidates must refer to the image. If no reference to the image is made, award a maximum of 6 marks.

Suggestion

This image demonstrates that students/learners can sometimes just be seen as empty
receptacles to be filled with information without fully understanding the information that is being
‘poured’ into them.

(s) Briefly explain Sean McDonagh'’s contribution to the climate debate.

Explanation = 10 marks
Very good answer 9 - 10M, Good 6 - 8M, Fair 3 - 5M, Weak 0 - 2M

Suggestion

Sean McDonagh has harnessed the institution of the Catholic church behind the climate
activism. He has encouraged a more holistic approach to climate action by raising awareness
and highlighting how large organisations have a role in convincing people to adapt to the climate
emergency.

(t) How does this image contribute to the idea of gender stereotyping?

Explanation = 10 marks
Very good answer 9 - 10M, Good 6 - 8M, Fair 3 - 5M, Weak 0 - 2M

*Candidates must refer to the image. If no reference to the image is made, award a maximum of 6 marks.

Suggestion

In this image, the dad is portrayed as being ‘fun’ for bringing home fast food for dinner whereas
the ‘mom’ is portrayed as being ‘lazy’. The perception is that the mother should have made a
home cooked meal is that the mom should have made a home cooked meal as this is one of her
assigned gender roles and duties as the primary care giver.
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SECTION B - Data-Based Questions - 150 marks
Question 2 - 50 Marks

(a) According to Document A, what was the purpose of the study? 10 Marks
The student is required to give a full answer, referring to the document.

According to Dr Pretorius, “The purpose of the study was to get a better picture of what works for
young people, so that services online can be enhanced.”

(b) According to Document A, what percentage of respondents availed of ‘official’ mental
health services as provided by HSE.ie? 5 Marks
The student is required to give a full answer, referring to the document.

The percentage of respondents who availed of mental health service as provided by HSE.ie was
10.4%.

(c) According to Document B, which social media platform has the most negative impact on
the mental health of 14 to 24-year-olds? 5 Marks
The student is required to give a full answer, referring to either the text or the graphic.

The social media platform with the most negative impact on the mental health of 14 to 24-year-
olds is Instagram, according to the findings, as seen in document B.

(d) According to Document B, what factors were taken into account when establishing the
ranking of social media platforms? 10 Marks
The student is required to give a full answer, referring to the document.

To establish this ranking, 14 factors were considered such as anxiety, depression, loneliness, self-
image, harassment, and the opportunity to express oneself.

(e) Based on your reading of both documents above, do you think social media has a more
positive or negative impact on mental health of young people? 20 Marks
There must be clear evidence of comparison between the documents to show why the chosen
document is more effective than the other.

Compare and contrast the sources of data in both Document A and B for 20 marks. Where no
comparison or contrast has been considered, award a maximum of 14 marks.
Reward both the candidate’s opinion, and their use of documents, to back up their opinion.

Very good answer (clear, accurate, insightful) 16-20M
Good answer (relevant, lacking insight) 11-15M
Fair answer (limited, lacking clarity) 6-10M
Weak answer (contradictory, confused) 0-5M
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Question 3 - 60 marks
(a) Comment on the source of data used in Document A. 10 Marks

Candidates should comment on how the data and findings detailed in Document A were sourced and
compiled.

They should specifically refer to the use of surveys, the number of respondents and why these
sources may and may not be reliable etc.

Very good answer (clear, accurate, insightful) 9-10M
Good answer (relevant, lacking insight) 6-8M
Fair answer (limited, lacking clarity) 3-5M
Weak answer (contradictory, confused) 0-2M

(b) Describe one strength and one weakness of surveys as a research method as used by both
documents above. 10 Marks

One strength x 5 marks with an example from either document.
Very good description 4-5M, Good 2-3M, Fair 0-1M

One weakness x 5 marks with an example from either document.
Very good description 4-5M, Good 2-3M, Fair 0-1M

Recommendations

Strengths

* Relatively easy to administer

« Can be developed in less time (compared to other data-collection methods)

+  Cost-effective, but cost depends on survey mode

+ Can be administered remotely via online, mobile devices, mail, email, kiosk, or telephone.

«  Conducted remotely can reduce or prevent geographical dependence

+ Capable of collecting data from a large number of respondents

* Numerous questions can be asked about a subject, giving extensive flexibility in data analysis

«  With survey software, advanced statistical techniques can be utilized to analyse survey data to
determine validity, reliability, and statistical significance, including the ability to analyse multiple
variables

* Abroad range of data can be collected (e.g., attitudes, opinions, beliefs, values, behavior, factual).

Weaknesses

+ Respondents may not feel encouraged to provide accurate, honest answers.

* Respondents may not feel comfortable providing answers that present themselves in a
unfavorable manner.

+ Respondents may not be fully aware of their reasons for any given answer because of lack of
memory on the subject, or even boredom.

+  Surveys with closed-ended questions may have a lower validity rate than other question types.

« Data errors due to question non-responses may exist. The number of respondents who choose
to respond to a survey question may be different from those who choose not to respond, thus
creating bias.

«  Survey question answer options could lead to unclear data because certain answer options may
be interpreted differently by respondents. For example, the answer option “somewhat agree”
may represent different things to different subjects, and have its own meaning to each individual
respondent. ‘Yes' or ‘no’ answer options can also be problematic. Respondents may answer “no”
if the option “only once” is not available.
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(c)

(d)

(e)

Do you think the presentation of visual data in Document B helps you to understand the
findings better? Give a reason for your answer, referring to the document. 10 Marks

Candidates should be rewarded for their opinion.

Candidates should refer to how the graph helps or hinders their understanding of the document,
and to explain why using a specific example.

Very good answer (clear, accurate, insightful) 9-10M
Good answer (relevant, lacking insight) 6-8M
Fair answer (limited, lacking clarity) 3-5M
Weak answer (contradictory, confused) 0-2M

Which document do you think is a more reliable source of information? Give a reason for

your answer, referring to both documents. 20 Marks

. Candidates are expected to make a clear distinction between the documents as to which
one is more reliable.

. There must be clear comparison between the documents, with at least three points of
comparison.

. Candidates are free to argue reliability or not, as long as they make detailed reference to

the documents.

Very good answer (clear, accurate, insightful) 16-20M
Good answer (relevant, lacking insight) 11-15M
Fair answer (limited, lacking clarity) 6-10M
Weak answer (contradictory, confused) 0-5M

Points to consider:
. Authorship

. Source of information

. Presentation of information

. Evidence of bias

. Effectiveness of communication in presenting evidence
. Ease of accessibility of document and findings.

Choose one key piece of data from Document A and describe how it links to the
information presented in Document B. 10 Marks

Candidates are expected to show a clear link between the documents.

One piece of data/information must correspond with a piece of evidence or findings in both
documents.

Very good answer (clear, accurate, insightful) 9-10M
Good answer (relevant, lacking insight) 6-8M
Fair answer (limited, lacking clarity) 3-5M
Weak answer (contradictory, confused) 0-2M
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Question 4 - 40 marks
(a) Outline an alternative method of research or information gathering that you could conduct
to add to the findings of both documents above. 10 Marks

Candidates must identify a method of information gathering that could add to or enhance the
information seen in either Document A or B.

They must describe the methodology clearly and how it would add to the document(s).
Very good description 4-5M, Good 2-3M, Fair 0-1M

There must be a definite and clear explanation about how, practically, they would go about
gathering the information, for instance, how a survey would be undertaken, interviews, etc.

Very good description 4-5M, Good 2-3M, Fair 0-1M

(b) Would the findings in the documents above change your attitude to and use of social
media? Give specific reasons and explain your answer. 10 Marks
Candidates should be rewarded for their opinion.

Candidates must refer to either or both documents to back up their answer.

Very good answer (clear, accurate, insightful) 9-10M
Good answer (relevant, lacking insight) 6-8M
Fair answer (limited, lacking clarity) 3-5M
Weak answer (contradictory, confused) 0-2M

(c) Which social media platform would you have chosen as having the most negative impact on
mental health as detailed in Document B? Give one reason for your choice. 10 Marks

Candidates should be rewarded for freedom of choice.

Candidates must have a specific and detailed explanation for their choice.

Very good answer (clear, accurate, insightful) 9-10M
Good answer (relevant, lacking insight) 6-8M
Fair answer (limited, lacking clarity) 3-5M
Weak answer (contradictory, confused) 0-2M
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(d) What potential positives can social media platforms and the use of technology have for the
mental health of young people? 10 marks

Candidates should be rewarded for their opinion.

Candidates must refer to either/both documents to back up their answer. They may also be
rewarded for demonstrating evidence of learning from their course but this is not an expectation.

Very good answer (clear, accurate, insightful) 9-10M
Good answer (relevant, lacking insight) 6-8M
Fair answer (limited, lacking clarity) 3-5M
Weak answer (contradictory, confused) 0-2M
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SECTION C: DISCURSIVE ESSAY - 15 MARKS

Marking the discursive essay:

1. Read the entire essay without allocating any marks.

2. Mark the essay using the marking criteria and total the marks.
3. Review total mark awarded using the grade band descriptors.

4. To finalise the total mark review again using the criteria.

PAGE 24 OF 26 ORDINARY LEVEL POLITICS AND SOCIETY | Pre-Leaving Certificate, 2024



9-v

8-L

0T-6

sylew QT

‘Ajl4e[d pue 31x93U0d
‘sndoj ‘9auaJayod ‘uoiiesiuedio

*U0139NJ3ISU0D 100d

‘Pasnjuod pue paliwi| S| Seapl Jo

‘uoIldNJ1ISUO0? ajqeuoseay

*JIseq S| Seapl 4o

*U0I39NJ3SU0d poo3 A4

‘3noysnouys
Alue|d pue snaoy pood Aiap

)

‘2in3n.1s syde| Aess3 JusWasSeuew pue uonesiuesio | uswaSeuew pue uonesiuesio -poo8 Asan si uoiuido pue smain uoisayo)
J0 Juswadeuew pue uojjesiuedio
z-0 € v S sylew g
‘uonisod

‘uoisod umo jo uoneaynsnf
JO SuoISn|au0d Juspuadapul oN

*uoilsod umo Jo uoizeayyasni g
suolsn|ou0d Juapuadapul paywI]

‘uoiysod umo saiasn( Ajespp
3 SUOISN|oU0D Judpuadapul smeid

umo sasnf Ajes|d 1g suoisnjpuod
juapuadapul pood Asan smeaq

(n)

SJUI0dMIA pue "sJuI0dMaIA ‘juswngie ‘syulodmain pue sanidadsiad uolnen|eny
sonnadsiad annesedwon o pue mw>_twm_£mo_ dAllBUIDY e 9y} 01 .M__ syuiodmaln mw:mchmp_m / aARUIRYE / BAIEIRdWO) H
/ @A1lesedwod paywi] aA13eJedwod Jo uojel8alul pooo 40 UoIeISUI PooS AJBA
¢-0 € v S S)lew g
's31oe4nddeu] Juediyiusis A v
*Jood s sisAjeuy yum sisAjeue |eipiadng 2U3PIAD B JO SISAEUE 21SE] “30UBPING BY} JO A"/
‘|e2130]|! 10 pasnjuod RCIENELD e uo v.w%n_ EwEmmLm _ooo.m \ stsh{eue anhdaoiad pue [Eallio e w_ww_.::>m
pa19n.3su0d Ajiood si Juswngay pue sisAjeue Jo 90UspIAS uo paseq juawndie poo3 AJan v 9 m_m>_mc<
PaUWI| YUM pamely s JudWINSIY :
€-0 9-v 8-L 0T-6 s)ydew 01
"anss| "21d03 3y} 03 JueA3jaJl AjanSen ‘e1EP PIILIULISGNSUN UO dDUE||DJ "9IU3PIAS 3|qIpaJd pue Amv
33 0} JUBA3[2J J0OU S| DDUIPIAS Ajuo ‘pasnjuod o ansiduwis JIAO UB YHM 22U3pIAS Jo 8uel dAIlEHJIOYINE ‘QUBAD|3J JO 38Ukl
‘pa3uasasd 22UBPIAS OU JO B3] ‘parwl| S| pa1uasatd dU3PIAT poo§ e sa1eS0.433ul pue SAIIUBP| | PeOIq e S33eS01I91Ul PUE SALHIUIP| 9JU9pPIN]
€-0 9-v 8-L 0T-6 syiew 0T
‘sJ0413 ‘sJ0413 "SJ0JJ3

‘A10301peIIU0D
J0 1931100Uul 3q ABW UOJIRWIOU|

pue suoissiWo Jofew suieuod)

puEe SUOISSILIO JOUIW SUIBIUOD)

JO SsuoIss|wo Juediusis oN

()

. "anss| *anss| ay3 jo Suipueisisapun *3Nss| aYy3 Jo Suipueisispun
ansst ay3 j0 a3pajmowy 9y3 Jo Suipueisiapun andea pa1iwi| Inq 38pajmouy] diseq pue a3pajmous dAIsusyaIdwod e mw_um:scr_v_
0U J0 3[13| Suimoys Aessa jeam y
e Uo paseq Aessa pasnjuod y e uo paseq Aessa 9|qeuosead uo paseq Aessa |ea130| pood AsaA
€-0 9-v 8-L 0T -6 syJew 01

'poo3sIapunsIw
Aj919|dwod 40 Ajanden s| anss|

‘UoI11es1|ENIX33U0D OU
yum passaippe Ajandea s| anss)

*UOIESI|BNIX31U0D PaHWI| YHM
passalppe Ajqeuosead si anss|

"9NSS| 3Y3} S951|ENIXAIUOD
pue sassaippe Aj303J1Q

(1) uonndonposyu|

e

Jeq

pooo

poos Aiap

AVSS3 IAISHNOSIA

0L ‘6 ‘8 'L '9 'S wouy suonasanb aauy3 Aue Jamsue syuapnis ‘IR 0SL - SAess3 aAIsinasid - J NOILD3S

PAGE 25 OF 26

ORDINARY LEVEL POLITICS AND SOCIETY | Pre-Leaving Certificate, 2024



‘uollsanb
9Y3 03 JUBA3|2.JI JO
91eJnddeul Ajjejol aq
1ySiw sjujod awos

‘pasnjuod
Sl JapeadJ ayl pue
sndoy syde| pue Jood
AJaA s asuodsay

‘apew swiepd Aue
140ddns 03 duU3apINS
JO pP2J340 syuswndie

1ueAs|al ON

‘sjujod Jueas|aul
0u JO 31| Yum
uoljewJoyul jo sadaid
pajuswseuy Ajuo
SJ194J0 1S9q 1e ‘yYdiym
Jamsue Jood AJan y

‘poolsJapunsiw
Aj@19|dwod
J0 pooilsJapun
Ajiood Asan
aq [|Im uonsanb syl

‘uonisod Jo
uoluido umo J1ay3 4o}
uolieaiasn( patayo
JO SUOISN|2U0d
juspuadapul
umeJsp uawa3pn
e paw.oj J0u
sey a1epipued ay|

*21do3 8y}
yum jusawagedus jo
DJUIPIAD OU S| 343y |

‘apew
sjuiod ay3 jo Aue
140ddns 03 dUdpIAD
ou S| 349y} pue
jJuawnsie ue Iyew
01 payjul| Ajesodund
10U 1nQ pa3els 9q
Aew sjuiod pijea may
B SMOYs asuodsay

‘pasnaoy
Ajl4ood si asuodsau
9yl pue pooisiapun
Ajlennsed uasq aney
[lIM suoilsanb ay3

‘Suiuesw
J9100s1p 01 AJessadau
9q Aew 3uipeau-ay

"uoneaynsnl payuwi|
AJan yum jeuosiad
J0 angen aJe
349440 SUOISN|DU0d
pue syuawadpnr

21do}
9y} yum juawadedus
panwi| AJaA st a4y

‘apew
Suiaq sjuiod ayy
1oddns 01 32uapind
333 A4aA yum
paxiwi| AJSA S| anss|
3Y1 Jo 98pajmouy

‘uoIsSsnasIp
J0 9oe|d ay3 sae}
U330 uoladal
pue Asewwnsg

‘Juiod 01
jujod wouy 4o julod
9y} WoJj Jopuem
01 SpUd} pue SNJ0}
Jea|d syoe| asuodsay

‘Ajjered
1Se9| 18 — poo3siapun
S| uonsanb ayy

‘uoIsnjPuUod
juspuadapul
palesdaiul ue

398 YaIym Siamsue
ul Sunynsads a1doy
9y} yum jusawadedus
panwi| st aiayl

‘Jusawnsuie
pautun ‘Inad.404
e ojul padojanap

10U S| DUIPIAS pue
paiwi| aJe sjuiod
95S9Y3 ‘U9AaMOH

‘91eludoudde
pue pijeAa s jey3
9JUDPIAS paNWI| SN
pue sjuiod aAlleIU)
dew siamsue
pue pajiwi| SI anss|
3y31 Jo agpajmouy|

"p0o01SIapun uaaq
sey uonsanb ayy

‘uoneasn|
paywi yum
P349}40 SUOISN|DUOD
1uapuadapul
pue syuswadpn(
2Wos aJe aJay ]|

‘Juswngue payiun
e oju| pajet3aiul
Ajn} 1ou ase
pue auo|e pueis 0}
143| 24e sjujod awos
18y} ‘J9ASMOY B5UIS
e 9q Aew aJayL

‘uonesisn||i

pue saJuaJa)aJ pljeA

awos Ag pajioddns
9Je pue Juead|al
9Je dpew siulod

‘uonsanb ayy
JO spuewap 3y} Jo
Sulpueisiapun swos

‘uoneayisn(
9|geuoseas aney
p3.49440 SUOISN|2UOD
pue sjuswadpn(
pue 21do}
9y} yum juawadedus
1O 92U3PIAS SI UYL

Juasald usawnsie
juaJayod e s|
2491 pue pasiuedio
[]oMm aJe sjulod

"90UDPIAS JUBAI|DJ
pue 3jeJndoe
Aq payoddns [|am
90 01 pua} sjulod

‘poo3siapun
[|om aJe uojisanb
3y} jo spuewap ay|

‘pasod uoisanb
9y3 uo Ajaeg|d

‘uoineayasnf
9|qeuoseas AJan aney
pa42440 suoisnjpuod
pue syuswadpn(
1uapuadapu|

o1dol
9y} yum jusawadeus
poo3 AJan si asayl

'SyuI0dmaln
aAlesedwod Suisn
juasaud juswnsue

juaJayod e s
943y} pue pasiuedio
|19M AJSA due sjulod

"92UIPIAS pPalIeA pue
91e4ndde ‘queAdjal
Aq payoddns payiun
pue paJnanJis [|9m
AJaA aJe sjusawngday

‘pasod uolsanb
9y3 uo Ajaespd

'$924N0S
pue 92U3PIAS JO
93ueu e Aq papoddns
S| pue Jusawngie
paysijdwodoe
‘snooy dueys ysisul
doap ‘quawadelus
[E211142 JO DUIPIAD
‘a3pa|mouy pajierap
S)UQIYXa Jamsue siy|

"paynsn/
AjaAisuayaidwod aue
paJ34J0 suoIsn|ouod
pue syuswadpnf

‘yadap-ut si o1doy
9y} y1m juswadedu]

“Supjuiys
juspuadapul
pue Suipueisiapun s|
Se SNoIAQO S| ¥sel 3y}
10 sjuawadinbal ay}
Jo dseud y3nouoyy v

*90UdPIAS
aAllesedwod duisn
JUIPIAS palJeA pue
9}e4ndde ‘QueAd|al
Aq pajioddns
pue paJnionas
-||9M ‘3ua43yod

1By} SMOYs asuodsay | 1Byl SMoys asuodsay | 1eyl smoys asuodsay | 1eyi smoys asuodsay smoys asuodsay $3sN204 asuodsay $3sn20} asuodsay s asuodsay
e T - 0 e 6T - ST SHEA T - 0¢ SHBIA 6C - SC SHIEA V€ - 0€ SHIBIA 6€ - S€ SHIE Ot - v S)JBA 0S - St
80 LO 90 SO vo €0 [4o) TO

SANV4E 3aVi5 AVSS3

ORDINARY LEVEL POLITICS AND SOCIETY | Pre-Leaving Certificate, 2024

PAGE 26 OF 26



NOTES




<% Examcraft

89F Lagan Road,
Dublin Industrial Estate,
Dublin 11

© 1013808 1494
©® r 0138362739
@ E: info@examcraft.ie
@ W: www.examcraft.ie




